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(7.12) =1-48;+8,—28,S;+48;—-6S5+55;+16S,S,—158,
+ 8S§S3"‘4S3S4“’12st5 +SS7.

The final result (7.12) coincides, of course, with the previous one,
namely, & obtained in (6.21).

Correction

A correction should be made for the expression (2.6) (these
Proc. 25 (1952), p. 541), since it contains a mistake in claculation.
It should be read:

¥ (ig)= A {5 pf(—t, +3j+ij+ Z (ih+3h))
+$0:(—J7, +ii+ij+ Z‘. (@k +3h))
+ (it 0) (=1, +ii 435+ Z (%’b+9h))

+ ngns!f(——@h +m+,7_7+z_7+ Z ok + ng)
(2.6) hed, T K, 5
+ Eean[’( ghy +ii+ji i+ sz+ Z Jk)}

—pip;((?» 58,4 2S:)(pi+p) — (4 — 382)(p¢+101)
—2(4—388,)pp;+ 5(0i+ p) + 8pips(0:i+ D))
—4(pi+ p3) —6pw,(Vi+ P3) — 4piv)) (i=<J)-
Accordingly, the subsequent expressions should be corrected as
follows:

F(i)=pipy(2— (1 +58,—28:)(p; + p;) — (2—38:) (¥ + )

(2.8) —2(2—38,)pip; + 5(p}+ p3) + 8pips(vi+ p;)
—4(pi+ %) — 6:p,(Vi + v} — 40ip)) (i=<9)-
S (i) =88, — 7S, — 9S2+13S,
2.12) */ +188,8, — 178, + 38! — 482 — 12,8, + 125,
S F(ij)=1—28, — S, — 782+ 98,
2.14) +185,S,— 178, + 358 — 452 125,S, + 12S;

szizj ¥ (15)=8S,—6S,—9S;+ 118,
216) ™ 168,8,—148;+8S1—882—108,S, + 9S,.
F=Fu+ ¢
+16S,S;—14S;+ 38 —38S3—10S,S,+ 9S;.
The inequalities (3.5) and (8.6) (p. 548) remain valid.

However, the expression (5.4) (p. 546) and hence the subsequent
expression for its derivative should be corrected as follows:
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—%7;<0 (m=2).
By the way, some other misprints should be pointed out: the
right-hand members of the second and the third expressions (7.13)
(p. 535) are to be read vwi(v+wv)u(l+v) and vi(u(l+v)+v.(v+vy)),
instead of vw,(v+v)u(l+v) and vi(u(l +v)+2uv,(1 +v)(v +v,)), respec-
tively.

—To be continued—



